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Gain Contours at 385km for ATH. Beam ID=URX, Polarization=rhcp
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Gain Contours at 385km for CTS. Beam ID=URX, Polarization=rhcp
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Gain Contours at 385km for DOH. Beam ID=URX, Polarization=rhcp
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Gain Contours at 385km for FAI. Beam ID=URX, Polarization=rhcp
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Gain Contours at 385km for FRA. Beam ID=URX, Polarization=rhcp

−20 −10 0 10 20 30

35

40

45

50

55

60

65

70



−
20

−20

−2
0

−2
0

−20

−20

−20

−20

−15

−1
5

−15

−15

−15

−1
5

−15

−15

−1
0

−
10−10

−10 −10
−1

0

−8

−8

−
8

−8
−8

−6
−6

−6

−6
−4

−4

−4

−2

Gain Contours at 385km for GET. Beam ID=URX, Polarization=rhcp
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Gain Contours at 385km for GUM. Beam ID=URX, Polarization=rhcp
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Gain Contours at 385km for IVC. Beam ID=URX, Polarization=rhcp
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Gain Contours at 385km for JNB. Beam ID=URX, Polarization=rhcp
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Gain Contours at 385km for PQI. Beam ID=URX, Polarization=rhcp
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Gain Contours at 385km for SCL. Beam ID=URX, Polarization=rhcp
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Gain Contours at 600km for ATH. Beam ID=URX, Polarization=rhcp
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Gain Contours at 600km for CTS. Beam ID=URX, Polarization=rhcp
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Gain Contours at 600km for DOH. Beam ID=URX, Polarization=rhcp
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Gain Contours at 600km for FAI. Beam ID=URX, Polarization=rhcp
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Gain Contours at 600km for FRA. Beam ID=URX, Polarization=rhcp
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Gain Contours at 600km for GET. Beam ID=URX, Polarization=rhcp
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Gain Contours at 600km for GUM. Beam ID=URX, Polarization=rhcp
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Gain Contours at 600km for IVC. Beam ID=URX, Polarization=rhcp
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Gain Contours at 600km for JNB. Beam ID=URX, Polarization=rhcp
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Gain Contours at 600km for PQI. Beam ID=URX, Polarization=rhcp
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